Простейшие операторы


Сформировать массив С = (С1, С2, …, С10), чётные компоненты которого равны компонентам массива А = (-5.1, 2.3, 4.6, 5.8, -2.9), нечётные – компонентам массива В = (2.8, 3, 5.4, -1.9, -4.1).
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Текст программы

program Program2;
const

  A: Array [1..5] of Real = (-5.1, 2.3, 4.6,5.8,-2.9);

  B: Array [1..5] of Real = (2.8, 3, 5.4, -1.9, -4.1);

var

  C: Array [1..10] of Real;

begin

  C[2]:=A[1];

  C[4]:=A[2];

  C[6]:=A[3];

  C[8]:=A[4];

  C[10]:=A[5];

  C[1]:=B[1];

  C[3]:=B[2];

  C[5]:=B[3];

  C[7]:=B[4];

  C[9]:=B[5];

end.

